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/ o8 ¢ 5" % Bog Deg st

\ ' \ 4‘ - N “
ifthe shaded portion rep 20\~ §

ancovered With grass i TESCNS the greq covered with grass, then the area (in square units)

5.5 BO0DAS e 3 | h

0y "0 (G s Ireogon SrdR, Uyd AGS sHypdd S

and, ST (SE8% B aer) = ’
) 212 2) 102 : 198 4 52

e 1 4) =]

4, Awndowisin the shape of 3 square surmounted by an equilateral triangle such that their

vertices commfie. If the perimeter of the window is 6 m, then the area of the window in
square meters 1s

o 888 560, WSRHIND DESwm 8 ghudn Sddio wf derdo (BahadNdo
5008083 3GB0e0 D8LFJowStur &0 Groos® wob. 8838 @g 568 6 Jonwcd, |, &K

$669 DoedeS & 888 Gy, roso y o8B aa=—FM"
)y)/ 1.43 (2) 2.06 (3) 2.68 g@;f/"/ (4) 2.88 o2—
| s,

| T — )
4. Acube 1s built using 216 cubic blocks of side one unit W gap in between. After
itis built, one unit cubic block is removed from every corner of the cube. The surface

v area (in sq. units) of the resultant structure after their removal is
- 2§ oS ehHudnm Ko 216 DSy BRes’ S0gges” wrden Bom w8 IR
@ am&;, ac"éea;'n) é&a‘méoﬁ-’ R0, P8 Sore ood 28 0TS DT"5°ED)
B30y SoRoT . T30 Fohodd EHTE IKAS oo BwE), ﬁf;’aaés dTog0

(. S QeneS*)
192 (2)
: b
f]iﬂ;lie measur.ementzlfl)g?‘s meters x 6 meters x 22.5 centimeter is 4
¢ded to build a W 25 230.00. X 11.25 0.0, x 6 0.00. ®008, 8 M. x 62, x 22.5

. e
iué 0¥ mézfs‘oéﬁé ¢ A aa&oizxj)g/swgoauzs anse Homg
0. Feden A9 6,000 6,400 (4) 7,200

180 (3) 216 - (4) 196

rick are 25 cm x 11.25 cm x 6 cm, then the number of bricks

S50 134 9 5 12T RE

Wi oy e B
' Y aeeepdtfT
W B Bt
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43. Ifahemisphere, aconcauda )’lmdcrha\:c qudlbascg and equg] volumncs, 1hcntheratlo .
the heights of the cylinder and the conc 15 ’ 55)3 /
28 WERESD, & Fopod) Sopos & 3 ok B ESnen LS 95‘7’;6
B D oS don aon, sguts $95 TER S g
(n 1:2 ) 2:3 413
‘ C e e
44. A circular sheet of radius i divided int0 four ©qual sectors and one sector is removed-It

th
S 3
is then folded to form a cone such that the perimeter of the page of the cone 1 (Z) o

the perimeter of the given circular shect: Then the ratio of the slant height and base radlUS

of that cone is
rgrgorn Ko o 53@-5165’.9) Bindo T B3> RELOT Dszon, nE PEE 2"””1‘:2

" SohoT. DS ) 28 JoSIT o QAN wrhinFod, 3T 6D 5120 GB0E),

DWFOES 2§ Sode BIrSINm $0BLLY BT, viy IGES gk B,
QLT Ay Hobasn FragrgEne g '
(1) 4:3 ”(29/15:4' .(3) 2:3 4) 2:5

45. The number of common solutions of 4x + 7y <5 and 2x + g— y=8 is

4x + Ty < 5 308520 2x-+—27-y28 ¥ do ﬁ;’n&& Ed0 Dopg T

(1) 2 2 12 TSHB). 0 A1

46. If (x,y,z) = (o B, 7) is the solution of the simultaneous linear equations 3x +4y + 5z =2,
2x+7y+z=1andx+y+z=0,then [ﬁiﬁ 4 ﬂ'”’)._.

)4 o
3x+4y+5z==2,2x+Ty+z=1 50805 X+y+z=0 o3 HZ050E 8BTS BDoESererss

(x,,2) = (05 B, 7) 85 wod, wiryei (_a+ p J,,[./Ltl] :

4 (74
a0 @ - Gy 2 4) 2
SO T i
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{l: 4718 with each o,

g o0 0Bk g «
72°0 S‘Rb )

()Qk

ar ; : ;

© 8 hoy stthn the times at whlch the minutes ang hour hands b€
Odyey I Min, and 8 hours 7, min., then f+1,=

o T &
® O8amg, g & Ve Booeg 308050 Hobo S 2808’ w88

= o ,
11”2 .&u 1, dTen 558050 8 Kodye 1, Aren @033;5:.’:3&3
874 o |
) 11
A 11 960
e . \ ) (2) 11 Ead
e - 8.7('[1_2'6’4) b;"q/
11 [}/ 225
« g T

i, The time. between 2 O’clock ang 3 o’
line but 1n Opposite directions i

9
2h 43—mi
(1) . 11mln.

clock at which the hands of the clock are in a straight

(2) 2h 42lmin.

| | 11

(3)- 2h 43—7—min. (45 2 h 422 min
11 ; 1

) ot SoBG 3 Hobe Doty HBcSTE Swwen &é HEFdPS’ Gotar, S5FE B,
639183 vBJooso . ‘ |

7
1) 2 Ao. 43% 2. . Y 2 250,
; 7 © ) 240 222D
() 204320 (W) 246 .
o hénds of a clock coincide from 6 am of 5™ August 2021 to 6 am

el Ifthe number of times th

of 7th 1187, then =
7™ August 202 6 ot $08 2021 eriy. 75 88 &6090 6 KoLoI8E a8

o B0300 Y =
2021 CToPen 55 86 7 REHE ©dydd n =

St =
ABSrg0e5*D wa () 22

}2;/“ L (4) 44
gy o
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0 class is 52 kg Five
50. Theaverage weight of 45 student® dents whose ave,.

48 kg left the class and another > S e prosent studep
Then the average weight (in kg) © t ;

i & 5 o !
w8 S6HBSD 45 Ho0n oG O ejﬁi 288 306" 48 te mpa 08D 1
. ; - :
) & Soran sgo agam 4522 22 20 o 56 Sk porggen 52 ¢
S818S" Bonct, igso o 6o0S” ¥ OTER Vit vy G

1 2 : 2

Answer the questions 51 10 55 after carcfully reading the following information.

/ L 1

of them whose avcragé weight s
8¢ weight i 54 kg joined the class
(s of the class is ~"

Five persons A, B, C, Dand E are as follows: co 7//”(44/
(2)  Eisintelligent than D but do not get as many marks as D, Lﬁ‘:—z{"‘"
(b) Cis intelligent than A but not as intelligent as B. | 39 O
(c) A gets more marks than D but not as many as B. | /7—:\/0 205 \ S8
(d) E gets less marks than C who gets less marks than D.@ /‘1’:( *‘\’ﬁ'ﬁ;
_ g : 2\09=) 220
(e) Eisless intelligent than A. 209 —
= —£3¢0 A
ol I&rTro) M 369, 51 K000 55 S6% Ko RHoLH aaa*aw?ééaa&. < Q]
2EHH S38en A, B, C,D, E en §od Do S ! ﬁﬁ’ 3
(a) Dgozs ﬁaa;_:s.swa 5 D 5»055&32 S8 e @oéac&w 7 LI
(b) Aso8 C30353 3 B wos 30350c> 5 2H°  °F |
(c) Dé&od A 89,3 SrEy 0 Foerd 5, B 0B 5.
(d) Dé&od &893 Sordy e Fod C ¥08, yog é@b;’) Sré 0 E Fodoern, ’?
() AgoB Essys a - = : -H\—ﬁ-@- 28
) ; ) / " 3
2 toof) 2 S% 2 43R0
51.  The person who getsleast marksis .~ - ts \;&5‘%
) odg0d S5y S Sréyen 598 <% ‘/3' 7(/3 Vs
(1) B < w‘)/
3) D E
. The person who is intelligent thy Lt A
. fan al the Others ag well as the one getting the highegy marks
NS ©olBEod BOBSTF g ' ' v
b &)
P &9/2 RN Sty e Krom 08 58 |
Clia (3) C (4) D

UG )2 Een—e e S
apthn B |



fa“he persons Stand ing, @ Booklet Code @
Ow

le tl)’ n the lnlddle is

accord . < - .

Ing cir ranking in intelligence, th erson

Dééwéﬁ T 50800 st g1o their r cnthe p
Q

99

M g ,
A 2 :
(l) ) B
3 C 45 D
e person cXactly ip the idq
s the markS 15 & 1fal| of them stand in a row according to their rankings i
g 68
HEOR BG TO8 S5 o |
oS 603 358 9 TEOK0 wpom ol wE 6t Do, EoydorT
) A 2 :
_/sz———--fl\3‘\\\\ 3 C D

epersonl who is the K .
55, Th P Second ranker i, intelligence and the fourth ranker in getting marks
is

392)@&30'5‘ Bo&® SH{I-VY 263*1602:@& Sroderoes® &Poo(ﬁ;i orgo%oRn Ke 358
(1) B . 2) D (3) C 4y A

/

Directions: Fill in ﬂ-le space marked as (?) with a suitable natural number from the given options
meach of the questions 56 and 57 and write it as your correct option.

i 0200030 57 HHOS (?7) & H800S =M, HEIN DI oS QS aNFTo0d
%05, TN D HBGoS 2d¥orm °aHod.

56, .
» _ | i
2013 ] 11 23 | 21 | 41 2917135 33[ 45| 19
\\12 ¢ 39 <S1123 A ?

L=
M) 62 0(2;/39 (3) 29 4) 217
e 7 ' 12
8 | ) 8
' 9
5_/ 6
A5 : 2 12 (3) 15 4) 16

e~
I [ T o

B




. € . N H nS nux b 7.
) X an nocred 58 and 59.

Rcad the information piven below all 1ts facceg , ' cach of

& on and then ¢y into smaller cub€s

e oreen
A cube of edge 8 ems is painted grgtaincd arc Separateg.
cdge 2 cms. The smaller cubes S0 0 ;
BHOR Breanagy,

59
& (808 JS>rEo S8, 58 $8050 , 5
: T O v . $80°¢
8 0.0, oK 2 s AV, &) “J’”gm @Sugﬁn\l G0E* onodny DR & &3@63
599 2%0.5. wos gons 98 WIIIPT CTO. Aty sos 08) DB 3P ‘

The number of smallcr cubes each with three faceg painted green is

58.
DT Bwg) Sordo SwgroP st 60 Josonss 08) a0 Bowg
(1) 4 2) 8 <16 (4) 24
, -~ I

59. The number of smaller.cubes with no face painted is

x| S0PINDDI Soir ShoT 0 D) DT Ropg
(1) 6 (/@9\/36 B7 12 (4) 16

Data for queétions 60 and 61: _ :
Seven persons P, Q, R, S, T, U and V teach seven different subjects: English, Hindi, Physics,

Chemistry, Biology, Sanskrit and History, from Monday to Friday. Not more than two subjects

are taught on any one of the days.
Chemistry 1s taught by Q on Tuesday. S teaches on Friday but neither English nor Hindi. U teaches

Physics but neither on Thursday nor on Friday. P teaches History on the same day on which
Physics is taught. R teaches Biology on Monday. English and Chemistry are taught on Tuesday.

V teaches on Thursday.
60 3>805» 61 PHH SaoFo:
Q6 Sghen P, Q, R, S, T, U %baso Ven arsarto $08 HETC0 65 Db 3esce

J%en FHTH. ed esogim, 08, E@éav@o, B8 'a;a@'o, 23 -'a‘@o, ‘éo%éo 308050
S0. 2 a8, S Bod KB Iy Sngess FHoHD. ‘

oo Q GMO S'O;. S HETEo FR]/D, %90093 qohRomy, 33"95(1‘@
S*Qosey. U FEET R0 T'OJ, wond K Goma, DETEM S80Sy, 23‘e’3§avt<>o
5603 6ers5d P 308 S0d, P TG0y R 25500 5 0xD. Dofdrse Q04K
WO S aLRETFo B0oRBEew. V figps 5 BR. ‘ ;

L3

60. Which of the following pair of persons teach‘on Tuesday? -
& Bod FTIS* 2 28 SgKen DOKY S ST OF? .
(1) ST (2) QU 5 T,Q 4) RT

W =




o whigh day, Sanskril is g @ Booklet Code @

il (1)- Thursday Ughty
(3) fhesday (2) Friday
5 g SEIOAGTS asig"?)eadma (4) Saturday
() KBTS0 o

' ﬁ'j;orﬁeé’mdo ' p@.{'iﬁ@;’”do

(4) Etsbolele

p‘rccﬁ ons for question 62:
ject™ :
esccond figure 1n the first

similarly, one of the fi pair of Problem figures bears a certain relationship to the first
qure. ! ’ '

fig 8Ures in'the angwer figures bears the same relationship to the first

s 1 the second pair of the Problem figyres. You have to locate the figure which would fit

0 - % .
10 e blank space marked with (?) ang give it as your answer.

apge 375 _ ,. |
am@gémé‘@ BOGE 2E50% Ko dEost Bods HLINSEH INEBILINE oF I
copoin (05, BBIGOIT, mares Hhines @ wf BB, HHTFHLOT TodS 2ESD
L sios ©BDEToS Bomoma) K0 dob. (7) Mo ard LFENS' BB & oW
(om0, TR0 Do dSrgrSor ased. i

62. Problem Figure :

Ry HEd0 .
@] YL
Answer Figure : |
a0 Hévo E
A) (B) S 3 C (4) D
(1). A | 2) B, - '

19-A

L T



| — Booklet Cod¢ I AI

bers letters and sy ,answer the questions 63and 64,

Based on the following SCQUC”CCO 4088°0 ©HEssg SEES0m, 63 $r0050 64 @Ho%

g0 agwdS Sopgo, BEERIY
| 48rESo asiob. . TWI{@WQSD&H?NIW#N

A*BC4XI Y6@58_MP§2
thef immediatly preceded or 1mmed1atly followed by a

63. The number of distinct symbol*

number is o
o S0y Fomoisd Snoth #08 807 B9T063 30 wosvossed 2hd) SIS
g (o] y : »

dowg ' m

(1) 4 @) 7

(3) 6
i
The 22™ element to the left of the g element lying to the right of ‘U’ is

- —
0 E @6

,raa/@ | | 4) 8 | _ |

In questions numbered 65 to 69, sequences of numbers or letters, which follow a difinite pattern
are given. Each question has a blank space. This has to be filled by the correct answer from the

four options given to complete the sequence without breaking the pattern.

65 5008 69 565 fo BHUS* Soagemd, ofTeamd, o€ AgH ST (358)d oty
&) sESren AT, 98 PR 18 PDm dotno, BHEHIHIErIE Foro Soror,
& 79 S Trerd mig’)s*o Qod 66@9@:6 TS JrooTo.

64.

9% ' |
65. "6, 71,52, 105, ,301
o ; " (4) 186

66.  75,105,165,195, 285

(1) 215 e ,

(3) 235 : @ 255

DA
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q A)DIJ‘II:TI'E‘H\P, CFLX’DHPy Booklet Code @
J . R
, ¢ (4) EISM
63 BE'P’C'I'Q’ DORaFUS’“— -
(1) HEU Fzin
W (2) HEV
(9PEFH e -
() FEH £ HFE

Dipctions for Questions from 70 to 72-

of the questi : | - ) '
InefcfltISi g fq(_ ) I(C)’nsﬂgm t°'72). there is g certain relationship between two given entries onl
the'e i t h - i ine Otber side of (: 1), the correct answer is to be chosen from the given
opions D€ATIHS e same relation that the pair of entries on the left side of (: ) has and give it as

‘youranSWCr. _
1 iood T2 5880 o BHoss S
MNiod T2 568 e ©8 ©HS'S (: D) S8 5> DYS A Both woisnod S0EgS =8 A2
4ouobo &8, (::) 8 Bo& IR, &8 m&t)s‘ozéoo& (::) $% 8 33 o 2d woTe JGghe

?oozao;r;ﬁ @aao@oaé}gm é&@aé RRSIAY)] JOLHER, TV B zaveomr adgod.

0. BCR:L:: : . | ;
(1) FGQ :H i . (2) KPN:T
1L otre: s
CUF:3K6:: ——'— = (2) GISK:8RJ
812G 3L ey E13H : 5M8
¢ () ci1aD:3M2
n AE./—\ ‘
261 110 8 (2) 296
) 286 | (4316
3) 306

s
LTI “f,c/ L



L 1500Klct COUY | £ 2 |

jestion 1 followeq by two statements | and 11- Give

aq
In each of the questions from 73 1 79
your answer as e bothe qisstion:
; Lo a1l .
i C A v Y JIVC l}]c ) '
(1), if the statement I alone can 8 swer (0 the question;

i - 8
(2), if the statement I alone can give the

(3), if statements 1 and 1T together only can B
also n

ive the answer (g the question;
ot sufficient to answer the question and additional

(4), if statements 1 and 11 together arc

information 1s nceded. }
73608 79 S5% fo 8 st vb B 8T8 000 Bidmes 1, Il agnbae>

1 .
B55%0 163 © BHs dErmEind aigtiond (1) od;
@’355:5:60.11 8T © PH® 5&@3W

250D © PH RIrETISK0n8 (3) wd;

_®3530 I, Il % Bododd &

©5550 I II 0 Bodr &ios), 0508 HSrTBENB &), @ BP0 aoeasBEd AR
— v/ ;s

(4) ©Q; o JISrESdom Qdgod.

-—

73. Is the perimeter of the rectangle more than 65 cm?

(I) Its length is less than 16 cm. LS e
(II) Its breadth is greater than 10 cm.
@ & 6, SE0ES SoiFed 650 SoB 0pss )
A o FEI 16 200.20 08 &893, \é“ﬂ \¢ & e 9 )
('H)/C)"R) Jcheny 10 200.20 €08 NEVINY iQ, =
= &
74. Isb>a?

() x+3isa factor of x° — 27"
() x-2is a factor of x> ~ 4

@ b > aeHsoo?
D £6 27 Boo), &8 o8t x 4 3
A) o - 4a’ B0, 28 Soagsy, 5,
T Te—— e

RO saik
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| _Howm | }’SundaySa St A-2 Booklet Code ‘Z]

Son S):tu] thay Year.
| aoﬁbﬁ)dé&;@f@ TN lday_
| e 499:63
@ 0 & ooéegéém T =

M) 8 NoS&ES5s, Jo 29 Semersy 00 ob.. :&/
() A Do
agsa,

7 R

s X =
10=38 alldx =3, then what is the value of S?

X +x1 +x2 .tx
(.?) X, forlrg 185560333 Xq = 3 o8, WA}t S Bk, Jeod Jod?
l’l 1 . 2 10

ﬂDX>Of°1”"12 10

7.1 AABC right-angled?

AMBC ©0a8%0 (@2hese? e 2
A 1A=2[B ’ o
L ) I/h:ﬁt)i;%’ LS \/P( b«b e
4@ ) B=-[C =5 L
4 3 @l -
| s
. Isa% of b equal to s% of 7 ?
bﬁnéb a%, t @nE, %8 JIrIErT
O a+b=s+!?
@1 (0 ab # st
B. What is the integer value of m”
m &g, Hrgos De0d 208! 7/;,,0
’if:L? Q/)(M
.-— ] @; | % "/ (V/
," : & N
4 ﬁ 7 2+m 2 Y.

9]

“‘(m 2 04=10m §A* N
~ | wszlo—
WWWWWWWWWWW/
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BOOkle \
: t d
{wo statcments ]abc“ Cace A

cd as Aggor;
Assertion (A) and Recason

. ~ ATC
In cach of the questions 80 to 82, ther®

_Choose your answer as e coTect exp)| .
(Ilz)‘ fboth (A) and (R) arc truc and (R)1S ilz)t ik COI‘rchcin?uO'
(2), if both (A) and (R) are true but (R)is! p

(3), if (A) 1s truc but (R) is falsc;’
(4),if (A) is false but (R) 1s true.
80 20 82558 fo BHos* asEge (A
(A), (R) &0 Bodir S8g50dr, (A) AP
(A), (R) &0 Bodor dgoe, (A) BN

(A) 3853, &0 (R) eddgo wand (3) o,
g0 wod (4) ed; JoR8 Baboa,

' Of(A);
E\nali()n Of(A)

), 5600 (R) 03 304, RESTOm, by HIPTS0
H6G0S D58 (R) w00 (1) wd;

‘65@;6 D36 (R) 58902 (2) wd;

(A) ©d8g50, 5 (R) &8

80. Assertion (A): Inurban areas, Smog CpiSOfieS occur frequently in winter.
Reason (R): A lot of biomass is burnt 1l Winter by people for heating purpose or to

keep themselves warm.
dnd&esn (A): S (Fodsnoe® P 20w Jodbdwn Esom jersoSns’
| S5 02ID000. | :
é)’/ 560 (R) : %e’?e}%me'i“ Pz, 36 Bodo I8 Sz 5788 IHETR) Soif BaTE
Jdo&* a‘@bs 25 dergdo (biomass) Ko 570

81. Assertion (A): The radius of a sphere is 3 cm. If the radius and height of a cylinder are
3 cmand 4 cmrespectively, then the volume of the cylinder and that of the
sphere are not the same. -

Reason (R):  The volume of a sphere is equal to that of a cylinder when the radius of
that cylinder is same as that of the sphere and the radius of the cylinder is
3 th

1 of its height,

VB EEcSn (A) 2.8 %o @52: Q‘Sa‘go i P -égg;o RA08), a‘g@*gm STsTevey
< ; —_— ' — o A

F\/ Fés0e ang DB Sreren pErSom GOED.
560 (R) : 28 Jrido Soosy E"g@go 0§ FEo G0k, Jusavq;aé ISR, RPN

B0y, :J‘S@-go > a@@q_?, < < od> 565 m‘;éo B0, MBS0,

Moo TG, W0 g

ORI

24.A
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l .
Moy angles in a regular hexagon is 720°.

' . (n=2
h lmemal angles of a regular polygon is ( ) )”.

_‘@ 5’5939 (R) : ¥ €5 - %5&_ wodd Sere ando 7200

N

Ngye Mol (n~ 2)7
= for the Quesie: Qog) e oéd. ool Jwdo ==
D fthe following o 1 Fom g3 — -

1 tfit ey iVen g © 87:
mematdoeséno fit with ¢ this gro, “Pliong alike in a certain way and form a group. Identify the
sj;}ﬁ& 87 d& ﬁe-j ‘-il & \ ld\VI]tc 1[ as YOUI answer.,
sos¥ ""'q\“é. TS D5 o
:swwﬁ)oé‘ LBREY éStse SR gy &, 2% QPR DESZNS* 2w dSwrasomr D8\ 5000 &
5 maﬁ&o.ﬁo %800 T D 2arwom 23506,
8. 0 30 o @ M@ N—
/w 71 4) 36
: Guava
b(,};/ﬁos‘ (2) -Watermelon (3) Papaya (4) Apple
2) &5 oS (3) HHo% (4) ©nS
: 3,/5,\34
0 . #775,7,74 3) 71,160 (@) 11,13,290
;»/lf‘ g6 @ EMl ¢ @D @ @)
(1) N, 14) ey (X, 25) @) (5,19 (@) @16)

8. Nitish is standing in South to Anil and is in North direction to Amal. Amal is standing in
West direction to Sunil. Sunil is standing in South direction to Vishal. Vishal is in East
B direction to Kapil. If Nitish is in West direction to Vishal and standmg immediately after

him, th hich direction Kapil is with respect to Anil? .
(lu)n, S(e)?ltllilgast (2) North-West * (3) West (4) South-West

Ry e eS8 cSégaon‘«'SJ ;’naofm WS50S8 ﬁéd&ée’)“cﬁ; Jdod fi‘yando IS8 HE0EB fe5*
ﬁay;)e;za - ?gp-«*owﬁ S8500 BES' DBR dowd ﬁéﬂ)goaoé O OIS Borr
i

28 J Bt Gad® 2) g (3) D&% @ 3%8
shyoso ( .

R P AN YA T8 Lo S B OV Sl £

I|n|m\|umuuummmnuunnm SR L s AR T b
n. \) .y Y % M2

>f
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. 1ks 15 meters to her W,
¢ Neclim? N (0 her Tight to reach est. Then she walks 15 meters
the post office. From the post

gg. Starting from her hous oS .
o] 4 by 10 €™ 1 oq followed b

fo hier g’ fcigoziv c12 n)]]ctcrs o het lcusc rid e Sg’ 32 meters to her right. Then, the
office she walke ' her ho ortest distance from her destination

i ; {0
direction from her dcstmatlon
to the post officc ar¢

(1) North-East, 4xﬁ§ 1

0 ' ’
) North-West, 20 m

’b( (4) South-East,20 m
o5 Sob noSeBos HOH S 568 BIS' 15 Doty 56058, SHad & &
w08 88 15 Dixg 380, SOTE 5§ 35 508 BH S 10 Dototy 360 SFe° S8
| 360b. Eder b $08 88 Ss OGS B 12 botody 3RS scod, S5 b
B8 32 Dogy $6008. I o) fé;i: 80 K00b eB> mol3 pHIN Ho 67
Sopaso s Koy Fo $od ST gIS% Ho 38 drdo gﬂmﬁ?ﬂ,}
(2) TasnSgo; 20 .7 4.

() Gesgo, 4T3 . ‘
(3) 38, 4473 - (4) esthoSo, 20 .

3) South-West, 4 73 m

bet is coded as " letter of it, where

er (n# 15) of the English alpha
instance, the 71 letter G is coded as L since

6 and L is the twelth letter). If n = 15, take
the questions numbered

In a certain code, the 7 lett
ris the remainder when 5n+3is divided by 26. (For

5.7 + 3 = 38 leaves remainder 12 when divided by 2
;= 26. The inverse process is used to decoding. Based on this, answer
90 to 94. | |
28 DPRE'&S® wol @ESSTeS Y nd wEo) (n# 15)@5 wgbomr §& BT R, & r oI,
5n+3 D263 grhodm 58 30 (GTHEk, TS5 eEERD G L 5& 378. DooEod
5.7+3 =382 263 grhodm 58) 3450 12 5360 Zsp050 12 5 @80 1;555_@). n=15

] :§ _— b ¥ : V3
eons, r 2;n‘ 830808, &Y eSS DEBI ASB6R8 &HBrhow . 89 esprdon 90 Sood

94 5650 o BHot 2TWOH asgod. e (S
' L9 3.xS
90. Thecode for VICTORY is 9/}
VICTORY 8 &
(1) IVRZYOX
(35 IVRYOZX (2) IVRYZOX
. 4) [VRYZXO

WA

26-A
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Th@CO Or POLICE is A-2 Booklet Code @

gl pOLICE 8 58

() EZKVRB
| _42)” EZKRVB

e
Theone which i codeg T

).
@oﬁ SD'Z)‘DS‘Q)QSG YOUTI

as YO
TH among the following options is

3 X£DYQ (2) TRANS
(4) TRNSA
g, Ifthe code of a letter ig jyg 5, . . s
such letters is S IMmediate sycceeding letter in the alphabet, then the pair of

£ 8880 Bn®_ &5
b S0, OE8Srost my BHBobd ST 5F) vido wond, ©tod
gire 28 ‘ ) !

() LM | ey EX

¢ Y.P | 4) S,F

%. There are 5 persons P, Q,R,S

Lall Sbte SRt et s B %% el G o

R | ey el N e o L el

94, Thenumber of ;etters which are coded as their immediate preceeding letters, is

oAk $Ee00 300KN) BETR), TR Fam KOAS eETTe dong

I 0 e, gl » 3) 2 (4) 3

and T in a family with three generations. There are two
em. R is the mother-in-law of P; Q is not married to R; S is married to

mamied couples in th )
Q. Then the ratio of the male members to the female members of the

Tand T is the son of

family is . |
Sib-dis S Boend) w8 Kot20020S" 5 18 Sg&gen P, Q, R, S, T v, 708" Sodo
oo 589

P &, wamdd R;R & Q8 dardro 5%0; T8 S & darnod
TS p30LoendNOP © T S -
; 4 T eRyd © Botooadghgees* SoT08, edad8 Hggihe

S8k Qdiaaéz,é’wé
e 2y 3:2
1) 2:3 4) 4:1

@) 1.4

LT
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st year of an engincering course are as give™ below:

: | in the f1°
The criterna for admitting a student n

The student must up (strcam) with atlcast 80% marks.

TP T
(A) have passcd X11 standard in S¢1¢ nc: 55 on 15! August 2021.
(B) not have more than 20 ycars of ag of 150 marks at the entrance test.

an 90 marks ou ‘
v ion fec in | semester and Rs. 5,000 admission charges @

(C) have sccurcd morc t the

(D) be able to pay Rs. 25,000 tuit

timc of admission.
In the casc a student fails 1o satisfy .
(I) . (C) above, but he can pay atlcast 60% ofthc SUPUIath fees, the case may be refefred to the
Admission Committec.
% marks at XII standard, thec case may be referred to the

(11) : (D) above, but he has sccured 95
Chairman (Admissions). :
s on 15 August

You are given the following cascs &
based on the given information and do not assum

adequatc, mark ‘data inadcquatc’.
o€ m02DB0R EEYSD [odEs D0

aésd@_oo&.

ur decision,

2021 in Q. Nos. 96 and 97. Give yo
ded is not

¢ anything. If the information provi

é“)doé“ 2.€ DB°88 OITI8 Ko Do 59d Bod Desorm

es :)z:rgg
(A) Dy S (Derifo)S* EID0 80% Sréy8 XIS S84

(B) 2021 5y 15 88788 20 Sosgore So5H%0)8 Dood o
(C) @d¥56€s* 150 & md 90 8 Dod Srdpyed BINFD woT
(D) 1 Bpbst SSa Godosm . 25,000 50605 5373
(&3¢ Goosn) & 5,000 BoBKOA Gomd.

8 853 tomd.
BB, :

o.
So03006e5* @&&:{15 a*ée»

2.E 3¢ =8 dogR

n: é.«z:é:?;z :Z)o )iﬁzgzzifo, XIS Soraet 95% Srdpe0 5B w08, ©

BRS0E BIDYd ‘BSorarEo éb;®5f:°g&vazezéob; ZQOISJ‘Q), Bonod. AMS JSJ5w60
BoSol.

(I bo

o 60% é%ﬁ@ﬁ@, & DA,

DRSSTR)



v tP bOl‘n on 2511.1
d” S Booklet Code
96. 5 i aﬂd 'at the Chtry, eptem |

bey _
} ¢ €1 .
: dadnnSSlOn Charges © legy respgopl , secured 85% and 65% in XII standard in science

; it “lively Alsoheisina position to pay the requisite fecs

not admyj issi
0 Do not admit (2) Refer to Admission Committee

Pe93 0580 25 s@ﬁgoas 200] < (4) .DatalInadequate (
B 8(5% 0%y 638 B0, XIT $64865*D D) DTS, 1HAT H6ES

ﬁ‘au—‘& 8L6504 ?863@6 - 632’% @ﬁoag‘—q&a. wodmE 520650?0;6 Sedo, @ag.as.

ﬂ(@&éﬁs— NPV

() RS BJEsre, (2) ©BHS 2088 DoFd

(4) BSrwardo HBDBS0EBE

. Sdent Q born on 20% gy

«ream and at the entrance ¢
teadmission charges

(1) Refer to Chairmar (Admission) (2) Admit
(3) Donot admit (4) Datalnadequate

amgg Q28 20, 2000 &° 22000, XII S658S° 2 DerKos, B34 3655 S
8%, 5% S8, 0 - B\ F . SHES e, @&&)‘és THen 2o ?g@ej" Qﬁsiéo-
1) eéggacso (©3Te0)s dBBoTd [ odS TRETD

() ebyes Bos srsd (4) dsrodo HOHDISBL

\

Y 2000, secured 85% and 75% at XII standard with science
est respectively. Also Q can pay the requisite tuition fees and

: 1 are facing the centre of
98, F; E sit around a round table such that al g th
8 tl;lxvc_person.s A,. B, C, D z;lrldopposite to E: C and D are neighbours of A. If 'fhere is on-ly. one
ttable, A is dlafn;;rl(;aA);nd 1o the left of E, then a possible order in which they sit is
e 0 :
P;SOHD to the rig 5 CDE® o€ 52016R B iy © vy To@SnIH whHlnporr
oty Sgsgen A, By T

04 Eeo & S S,
57 Fdesg, C 500050 D e A QwE), 8 )
). oS’ A 5 :

S0 64 &) 558 Dagyd wond, eifyd Ty §FENSHONS
A858 g, 5 Sopasw B |
“ Koo, ' __42y"ADEBC
E - O Acpep . o (4) AEDBC

: »
4
4

llll!llHlllNll“llIH\Ill!llll|||!I|||H||l

:
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P e
g9 Seven persons A, B,C’DE -
G) Gis bctwccn/\a“ bcw/ccﬂ
1C PCYSO“ " qween them

(i1) Fand A havc O ! 5
(iii) EandChave two P of pand
(iv) D is to the jmmed!

(v) CandBhave three pch;’ ftis
The second person grom th¢ c & Hg8yen 2.8 B80S
39 i §Eae0 2 Hest |Bod J&O

A,B,C,D,E,meo@w

ot ,
c 11225 bctwecn them

e QOIS

(i) A,Eof 2050° O aT® -
(i1) F, A o¥ Bo65g® & 388 5 ) |
s g I8 &I

(i) E. C oo 850 58
F & $ge0 b BHD D &I)®

@iv)
v) C,Bo® S5y SR 558900 580
s> B, wod T8 558 . |
© - B E @ A

1 ¢ 2

100. Consider the following ranks of policé pefsonnel in Andhra Pradesh.
(B) Director General.

(D) Deputy Inspector General
Constable’

(A) Inspector General
©) Superintendént
(E) Deputy Superiritendent (F)
(G) Inspector

o SEBES & BIHS ai)d F0% vy o‘*goé)oéo s 0.

(A) =RIES aa’)dej@

e (B) 2086 2385

©) Ap5B80830B0E a- &

(E) &irge dodboBorods @(D) &g S aES 2865
@Y

(G) a:a&)g@

The correct sequence of
the '
ranks from the hj ghest to the lowest cadre is

@]ébgéclé r?gax: Soobh «8 ééob:) . \

(3) B,A,C.ED,EG | 2) B.A, D,C, E.—;G,"F
47 A,B,GE D,G,F

i ABCERGT

[ Rlafalula

3(}_A



